normalized X2

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

[ normalized x? probability |

chiz chiz_prob
Entries 23620 n Entries 23620
Mean 1.029 N N N N N . |Mean 0.5585
Std Dev 1 o12| 0.05 + - | std Dev 03212
: chiz Shiz_pro
+_[Entes 23922 Entries 23922
Mean 1.029 0.04 v - | Mean 0.5588

Std Dev 1.004 Std Dev 0.321

0.03]

0.02

0.0

Ratio

~0 010203040506070809 1
X? Prob(x?)

== DQM_V0001_R000000001__Global__CMSSW._ckfnocut2_RECO

== DQM_V0001_R000000001__Global__CMSSW_mknocut2_RECO

TG T

< X2/ ndf >

Ratio

107 1072

-1
AR(track, jelts)



	Contents
	Page 1


